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1. APPLICABILITY

e This Standard should be applied by an employer in accounting for all employee benefits, except

e The Standard applies in its entirety for all Level | enterprises. Certain exemptions are given to other

(a)
w)

)

@\/? O\CM -

SECTION A — CONCEPT

employee share-based payments. ( (&)

than Level | enterprises, depending upon whether they employ 50 or more employees.

2. EiiPLOYEE BENEFITS INCLUDESs

formal plans or other formal agreements between an enterprise and employees;

under legislative requirements or through industry arrangements where entities are required to
contribute to the National_State or Industry plans; OR FF . E <l -
By those informal practices that give rise to a Constructive obligation.

CONSTRUCTIVE OBLIGATION:

An Obligation to pay that arises out of entity’s actions rather than a contract. It may typically
Qccur from past con . - -
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3. TY~ES OF EMPLOYEE BENEFITS

/Gﬂ/ SHORT-TERM EMPLOYEE BENEFITS, which are expected to be settled wholly before Twelve Months

after the end of reporting period, such as wages, salaries and social security contributions (e.g.,
contribution to an insurance company by an employer to pay for medical care of its employees),
paid annual leave, profit-sharing and bonuses (if payable within twelve months non-monetary

benefits (such as medical care, housing, cars and free or subsidized goods or services) for current
—_———— —— e

employees;

POST-EMPLOYMENT BENEFITS, which are payable after the completion of employment such as
gratuity, pension, other retirement benefits, post-employment life insurance and post-employment
medical care;

/(d/OT HER LONG-TERM EMPLOYEE BENEFITS, including long-service leave or sabbatical leave, long-
term disability benefits and, profit-sharing bonuses and deferred compensation; and

D —

TER BENEFITS are employee benefits provided in exchange for the termination of an
mployee’s employmentss a result of either: -
(a) an entity’s decision to terminate an employee’s employment before the normal retirement date;
or —
(b) An employee’s decision to accept an offer of benefits in exchange for the termination of
employment. (VRS) il
Employee benefits include benefits provided to either employees or their dependents or
beneficiaries:

Note: An employee may provide services on a full-time, part-time, permanent, casual or
temporary basis. Employees include whole-time directors and other management
personnel. o
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4. POST-EMPLOYMENT BENEFITS &

OTHER LONG TERM EMPLOYEE BENEFITS Ve

4.1 DIFFERENCE BETWEEN DEFINED BENEFIT PLANS AND DEFINED CONTRIBUTION

(ot 2o~ -

Defined Contribution Plans (DCP) Basis of Difference Defined Benefit Plans (DBP)

Entity pays fixed contributions into a IR PSP
separate entity (a fund) and will N'o P‘ ned 6""}(‘ bu'f

A7 2 L’eg allodegy tiuchive Post-employment benefit plans other
obligation to pay further than defined contribution plans
contributions TF the fund does not 4

~hold sufficient assets to pay all @:ﬁ{j .Ky,cuj ‘Q“C\)D.! < FE’Y ijr

benefits P @ddr“"}.ma—»‘ 1
Emplovers’ \ Obligation is to provide agreed
Obligation is limited to the amount 0 bﬁ a!{tion > benefits to current and former
that it agrees to contribute. g employees. (Obligation is not

(Amount Payable) limited)

\ If actuarial or investment experience
Change in the | B L than expected, the entity’s
obligation obligation may be increased for

providing to the employees.

No Change in the contribution made
except some extreme conditions

Actuarial Risk
(Benefits will be

more/less than
expected)
Risk in substance on the Employee. Investment Risk_ | Risk in substance on the entity.

Provident  Fund  Contribution by Examples Gratuity
employer ( ;_; >
Not wa Actuaria

Reguired
( AssumptionD /
Not Reguired except where the| ~———

obligation falls due after twelve
months after the end of the annual Discounting Always Reguired
reporting  period in  which  the

employees render the related service.

Risk in substance on the Employee Risk in substance on the entity.

4.2_ ACCOUNTING FOR DEFINED BENEFIT PLANS (D = P>
Summary:

/I/Cﬁculate Current Service Cost (CSC) using actuarial assumptions under “Projected unit credit
method”. CSC means the amount of expense to be recognised every year against the services
performed by the employees. CSC is always calculated by discounting technique, since the service has
been performed but the amount to be paid in future. It is shown under Employee Benefit Expense in
Profit and Loss A/c.

/2./Calculate Interest on defined benefit liability using same discounting rate used in CSC. It is show under
Finance Cost in Profit and Loss A/c ’
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_377CSC and Interest on defined benefit Liability is charged to Profit & Loss A/c and corresponding liability
is credited in the name of PV of defined benefit Liability or defined benefit obligation. ( LT P“W" o
etermine the Fair Value of Plan Assets (Investments made)
/S./K)e have to present Net defined benefit liability (asset) by deducting Fair Value of Plan Assets from
PV of defined benetit liability.
it is deficit then — Net defined benefit liability, if it is surplus then net defined benefit asset.
7. Asset is to be show at lower of:
(a)  The surplus in the defined benefit plan; and
y\é\% the present value of any economic benefits available in the form of refunds from the plan or
' reductions in future contributions to the plan.
(Difference is charged to Profit and Loss Account)

( ¢¢ €

A

“"Re-measure the liability, if there is change in estimates and actuarial assumptions, any change is
known as Actuarial Gain or Loss and transfer to Profit and Loss A/c.

/Q/ How to Calculate Expected Return? O P losr frs4 d

First of all we have to check whether separate Rate (%) is given for calculation of expected return,
if not given then we shall take same discount rate which is used to calculate the Interest on

Defined benefit obligation.
Now, next issue is on which valu should be applied to calculate the expected

return? For this we have to check the guestion’s information and follow below guidance:
a. If Contributions made to Plan Assets and Benefits paid at the end of the year then apply the Rate

(%) on Opening Balance of Plan As dmg,( ', ‘-1 No-ft/)) _—

b. If Contributions made to Plan Assets & Benefits paid in the beginning of the year then apply the
Rate (%) on (Opening Balance + Contributions Made ~ Benefits Paid). cem B¢ eR

tVeAeS
¢. If Contributions m Plan Assets & Benefits paid in ghe mid of the year Dpen follow the below
steps: Q NG""Q

Mt calculate The Return on Opening Balance with the given annual rate (%)
\\/'Mﬂo alculate Six Monthly Compounded Rate of Expected Return as under:
[V1 + annaul rate - 1] x 100

Calculate the Return on Net Contibution (contribution made to Plan Asset less Benefits Paid
out of Plant Assets) by applying the above six monthly compounded rate.

/e./ At every BS date, re-measure the Plan assets<at Fair Valued Any change on re-measurement is
called Actuarial loss or gain and transfer to Profit and Loss A/c. (Fair Value of Plan Assets will be
g/ven in the Question)

7 Items to be shown in Profit and Loss A/c:
\i/Cu/rrent service cost under Employee benefit expenses.

\_Ji Interest Cost; Cost;
\/Expected Return on Plan Assets; ( T UUW.Q)
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L/w./Actuarial gains and losses on defined benefit Liability and Plan Assets due to change in
ctuarial assumptions.
\/ﬁng Past service cost (to the extent they are recognized), EWP Benf. ex?

vi.  and gain or loss on settlement (curtailment);
vil.  Any change in the effect of the Net Defined Benefit Asset.

. Items to be shown in Balance sheet:
Net defined liability (deficit) or Net defined asset (Surplus)

Wrial Assumptions comprise -
I, assumptions such as mortality, employee turnover rate, disability, early

retirement, claims rates under medical plans and,
isumptions such as discount rate, future salary, expected rate of return on plan

i
Example: (on Define Benefit Obligation)
A lump sum gratuity, equal to 1% of final salary for each year of service, is payable on
termination of service. The salary_in year | is Rs. 10,000 and is assumed to increase_at 7%
(compound) each year resulting in Rs. 13,100 at the end of year S. The discount rate used is
10% per annum. Shows how the obligation builds up for an emplogee who is expected to leave
at t%‘e end of year S, assuming that there are no changes in actuarial assumptions.

SOLUTION: (Amount in Rs.)
Computation of benefits attributed to the current and prior years:
Year ] 2 3 4 S
Benefit attributed to:
= Prior year 0 | 131 | 262 | 393 | S2¢
- current year (1% of final salary) 1311 130 130 131 | 13l
- Current and prior years 131 | 262 | 393 | 5246 | 65

Computation of obligation for an employee:

Year ] 2 3 4 s
Opening Obligation = 89 | 196 | 324 | 476
Interest at 10% - 9,1 20 ] 33 .] ¢3,
Current service cost (see note 2) 89 | 98 | 108 | 119 131
Closing Obligation (see note 1) 39 | 196 | 329 | 476 | 6SS
Note |
Closing obligation
Year ] 2 3 4 s
Gratuity attributable 131 | 262 | 393 | $24 | 6S5S
Payable after (years) 4 3 2 ] 0
Discounting factor 683 751 | .826 | 909 ]
PV 29 | 196 | 324 | 476 | 6SS
Note 2
Current Service Cost
Year ! 2 3 4 s
Gratuity of current year 13 13 13 13 13
Payable after (years) 4 3 2 ! 0
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1 increase in the gratuity liability of the company (i.e. from 10 lacs to 20 lacs). Such increase in liability

Discounting factor 683|751 | .826 | .909 ]
PV 89 | 9% [ 102 | N9 | 13

(e 7
20X, the fair value of plan assets is Rs.10,000. 0n 30.9.20X] it paid benefits of Rs. 1,500

and received contributions of Rs. §,500. On 31.03.20X2, fair value of plan assets is Rs.1$,000
and [PV of obligation was Rs. 14,972] Actuarial losses on obligation was Rs. 60 on 31.03.20X2.
Find the net actuarial gain/losses on 31.03.20X2 based on the following estimates:

Interest and dividend income 9.00% v~
Realised and unrealized gain on plan assets 1.50% —
Administration costs (.00%) e—
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mod\F.C"“*' 4.3 PAST SERVICE ¢OST (PSC)

1

Meaning of PSC - change in the present value of the defined benefit obligation resulting from a plan
amendment ; known as past service cost (PSC).

° 7s divided into two parts: ?2}\
(a) Awmortised Past service cost - which is to be recognized immediately to the extent benefits are
already ves

(b) Unamortised Past Service cost — to be recognized on straight line basis over the remaining period

until the benefits are vested. Vf'ﬂ(wa V"&WC{ PQJ "M ‘3&3:30\

Aﬂple of Past Service Costs: due to the recent amendments in Gratuity Act, 1972 there is substantial

would e regarded as Past Service Cost.
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/E?/"
\ ample: 5

An enterprise operates a pension plan that provides a_pension of 2% on final salary for
each year of service. The benefit will be vested after S years of servicedon 1.1.200S, the
enterprise improves the pension to 2.5% of the Tmat 3a or each year of service

starting from 1.1.2001 at the date of improvement the Present Value of additional benefits
for service from 1.1 .2001 to as follows:

o Employees with more than S years of service at 1..2008 Rs. 200000 \/e;{-e: A
o Employees with less than S years of service
(Average period until vesting = 3 years) vt
Suggest the accounting treatment SO0 4
_‘Q%_._— 0800 Pl
]
@uhw = Svey

i) Aouited psc meons add’ Foal Bemelis
pegaie Svuployees w3tHh ment dlag
fjewt& of lesqvice = 2200000
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4.9 CURTAILMENT AND SETTLEMENT F

e Curtailment or Settlement is a transaction that eliminates all further legal or constructive obligations
for part or all of the benefits provided under defined benefit plan.

e In a simple language, if Defined Benefit Obligation plan is modified in such a way that employees will
not get benefit, rather benefit originally planned is being reduced, it is called curtailment.

e

o However, settlement amount may have to be given by entity as a compensation against curtailment
of benefits.

o An enterprise should recognize gains or losses on the curtailment when the curtailment occurs.

Journal Entry:
Defined benefit Liability Alc  Dr. (Curtailment Amt.)
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( ¢

To un-amortised past service cost a/c
To Bank A/c (settlement)
To Gain on Curtailment A/c (Balancing Fig)

e Gain on curtailment shall be transfer to Statement of P&L under Employee Benefit Expense.

/ ‘ I

mple: Y
An enterprise discontinues a business segment and the employees of this segment will
eam no_further benetits. This Is curtailment without a settlement. Tmmediately before

the curtailment the details were.
Before Curtailment After Curtailment

PV of obligation v 1,000 v 00—
FV of plan assets 820~ 820
Unrecognized past service cost

The curtailment reduces the obligation to Rs. 900 and URPSC to Rs.§4S. Suggest the

accounting treatment.

DR fagapteDY—166
o Un-am-PLC S
To Garoon Cor GC(P31)

5. SHORT-TERM EMPLOYEE BENEFITS

(NO ACTURIAL ASSUMPTION)

7" Accounting for short-term employee benefits is generally straight forward short-term employee
benefit obligations are measured on an undiscounted basis.

it involves no actuarial assumptions to be made, hence there is no accounting required for any actuarial
gain/loss.

iyShort-term employee benefits are broadly classified into four categories:
(a) regular period benefits (e.g., wages, salaries);
(b) short-term compensated absences (e.g., paid annual leave, maternity leave, sick leave etc.);
(c) profit sharing and bonuses payable within twelve months after the end of the period in which

employee render the related services and

(d) non-monetary benefits (eg/mea'/'ca/ care, housing, cars etc.)

.\?/z/mkr—rsm COMPENSATED ABSENCES

An employer normally tompensates an emptogee om account of his absence either by granting privilege
leave (vacation leave), or sick leave, or matermity or patemity leave etc. These compensated balances fall
under two categories and recognize the expected cost in the form of paid absences as follows:

——

Accumulating paid absences -
Accumulating compensated absences are those that are carried forward and can be used in future

periods if the current period’s entitlement is not used in full.

-

Mm—accumulating paid absences -
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Non-accumulating compensated absences (e.g., maternity leave) do not carry fonward and are not
directly linked to the services rendered by employees in the past. Therefore, an enterprise
recognizes no liability or expense until the time of the absence.

In other words, the cost of non-accumulating absences should be recognized as and when they

-

hen the employees render service
that increases their entitlement to
future paid absences

hort Term paid Absences

When the absences occur

Treatment of Accumulating Paid Absences:
These are the absences that are carried forward and can be used in future periods if the employee is not
able to use them in current reporting period of the employer. They can be either:
\)[)/ Vesting: In this case, employees are entitled to a cash-payment for the unutilised entitlement
at the time of leaving the entity.
)~ Non-vesting: In this case, employees are not entitled to a cash payment for unused entitlement
on leaving.

Measurement: An entity shall measure the expected cost of accumulating compensated absences as
the additional amount that the entity expects to pay as a result of the unused entitlement that has
accumulated at the end of the reporting period.

Example:
An enterprise h@ who are each entitled%a_five working daysf leave for

each year. Unused leave may be carried forward for one calendar year. The leave is taken
flYst out of the current year's entitlement and then out of any balance brought forward
from the previous year (a LIFO basis). At 3] December 20X4, the average unused
entitlement Ts two days per employee. The enterprise expects, based on past experience
which is expected to continue, that 92 employees will take no more than five days of
leave in 20XS and that the remaining eight employees will take an average of six and a
half days each.

Qb\ | How much is the expected liability due to leaves?
o Ans.: The enterprise expects that it will pay an additional 12 days of pay as a result of
the unusga’ entitlement that has accumulated at 31 December 20X4 (one and a half days
each, for eight employees). Therefore, the enterprise recognises a liability, as at 3

December 20X4, equal to 12 days of pay.
W< *8 @ X 2 ‘é j
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PROFIT-SHARING AND BONUS PLANS

An enterprise should recognise cost of profit-sharing and bonus payments when:
e enterprise has a present legal or constructive obligation to make such payments as a result of
past events
a reliable estimate of the obligation can be made. A present obligation exists when, and only when,

the enterprise has no realistic alternative but to make the payments.
Therefore, an entity recognises the cost of profit-sharing and bonus distribution of profit
but as an expense. M ¢ Q

Example

A profit-sharing plan requires an enterprise to pay a specified proportion of its net profit
for the year to employees who serve throughout the year. If no employees_leave during
the year, the total profit-sharing payments for the year will be 3% of net profit. The
enterprise estimates that staff turnover will reduce the payments to 2.5% of net profit.
The enterprise recognises a liability and an expense of 2.5% of net profit.

6. TERMINATION BENEFITS

1 ~Termination Benefits are employee benefits payable as a result of either an enterprise’s decision to
terminate an employee’s employment before the normal retirement date (OR) an employee’s decision
to accept voluntary redundancy in exchange for those benefits (e.g., payments under VRS).

2 mination benefits are recognized by an enterprise as a liability and an expense only when the

enterprise has
etailed formal plan for the termination which is duly approved, and

\-/b)a reliable estimate can be maa’e of the amount of the obligation.

3 ere the termination benefits fall due within twelve months after the balance sheet date, an
unaiscounted amount of such benefits should be recognized as liability in the balance sheet with a
corresponding charge to Profit & Loss Account.

fter the balance sheet

No Hevere
A '$Cev-tmg

Wer when the termination benefits fall due more than twelve month
date, such benefits should be discounted us nt rate.

Example on Termination Benefits

As a result of a recent acguisition, an entity plans to close a factory in ten months and, at that
time, terminate the employment of all the remaining employees at the factory. Because the
entity needs the expertise of the employees at the factory to complete some contracts, it
announces a plan of termination as follows:
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Each employee who stays and renders service until the closure of the factory will receive on
the termination date a cash payment of Rs 30,000. Employees leaving before closure of the
factory will receive Rs 10,000.
There are 120 employees at the factory. At the time of announcing the plan, the entity expects
20 of them to leave before closure. Therefore, the total expected cash outflows under the plan
73,200,009 (je 20 x Rs10,000 + 100 x Rs 30,000). As required by paragraph 160, the entity
accounts tor enef/%TpVOV/‘ded in exchange for termination of employment as termination
benefits and accounts for benefits provided in exchange for services as short-term employee

benefits.
R

Termination benefits

The benefit provided in exchange for termination of employment is Rs 10,000. This is the amount
that an entity would have to pay for terminating the employment regardiess of whether the
employees stay and render service until closure of the factory, or they leave before closure. Even
though the employees can leave before closure, the termination of all employees’ employment
is a result of the entity’s decision to close the factory and terminate their employment (ie all
employees will leave employment when the factory closes). Therefore, the entity recognises a
liability of Rs 1,200,000 (ie 120 x Rs10,000) for the termination benefits provided in accordance
with the employee benefit plan at the earlier of when the plan of termination is announced
and when the entity recognises the restructuring costs associated with the closure of the
factory.

Benefits provided in exchange for service.

The incremental benefits that employees will receive if they provide services for the full ten-
month period are in exchange for services provided over that period. The entity accounts for
them as short-term employee benefits because the entity expects to settle them before twelve
months after the end of the annual reporting period. In this example, discounting is not required,
o an expense of Rs. 200,000 (j.e. Rs. 2,000,000 = 10) is recognised. in each month during the
service period of ten months, with a corresponding increase in the carrying amount of the
liability. —

1O

120 mo - v

QOM“ (OQYL@-u

P
%‘jab(’toabilv;«*d Q-‘jj A

XY
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QCCfxueC‘\ GCC’w&d
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SECTION B - QUESTIONS
(Questions of Study Material, RTPs, MTPs and Past Exams to be

Practiced in the Class)

Series 100
LONG TERM AND POST EMPLOYEMENT BENEFITS

AS15.5M.101 (Defined Benefit Obligation) E‘;(O\m

An employee Roshan has joined a company X¥2 Ltd. in the year 20X). The annual emoluments of Roshan
as decided is ¥14,90,210. The company also has a policy of giving a lump sum payment of 25% of the
last dravon annual salary of the employee For each completed year of service if the employee retires after
completing minimum S years of service. The salary of the Roshan is expected to grow @ 10% per annum.
The company has inducted Roshan in the beginning of the year and it is expected that he will complete
the minimum five year term before retiring. Thus he will get S yearly increment. —
What is The amount the company should charge in its Profit and Loss account every year as cost for the
Defined Benefit obligation? Also calculate the current service cost and the interest cost to be charged per
year assuming a discount rate®f 8%.

=TV factor for 3% - 0.73S, 0.795,0.857, 0.926, 1)
Solution

Calculation of Defined Benefit obligation (DBO)

Expected last drawn | ¥16,90,210 x 110% x 110% x 110% x 110% x 110% ¥24,00,000
salary

Defined Benefit | F 26,00,000 x 25% x S <30,00,000
Obligation (DBO)

-

Amount of F 6,00,000 will be charged to Profit and Loss Account of the company every year as cost for
Defined Benefit Obligation.

Calculation of Current Service Cost

Year Equal apportioned amount of DBO | Discounting @ | Current  service  cost
[i.e. ¥ 30,00,000/S years] 2% PV factor (Present Value)
a b c d=bxc
| 6,00,000 0.73S (4 Years) 4,41,000
2 6,00,000 0.794 (3 Years) 4,76,400
3 6,00,000 0.857 (2 Years) 5,164,200
4 6,00,000 0.926 (I Year) 5,558,600
s 6,00,000 | (0 Year) 6,00,000

Calculation of Interest Cost to be charged per year

Opening Interest cost Current service | Closing balance
balance cost
a b C =bx8% d e=b+c+d
] 0 0 4,41,000 4,41,000
2 4,41,000 35,280 4,76,400 9,52,630,
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/Q./A{S‘SM.IOZ (Actuarial Gains/Losses)

3 9.52,630 76,214 514,200 1S,63,096
4 15,643,094 1,23,447 $,55,600 22,2214
s 22,22,14) 1,77,859" 6,00,000 30,00,000
“Due to approximations used in calculation, this figure is adjusted accordingly

ey,

Omega Limited belongs to the engineering industry. The company received an actuarial valuation for the
first time for its pension scheme which revealed a surplus of 6 lakhs. It wants to spread the same over
the next 2 years by reducing the annual contribution to I2 lakhs instead of FS lakhs_ The average
remaining life of the employees is estimated to be 6 years. You are required to advise the company on

the following items from the viewpoint of finalization of accounts, tolkigg note of the mandatory
N ]

accou;?t/ng standards. ACJ\:&)-L.('J &a = & Seaes - P

Solution

According to AS 1S (Revised 200S) ‘Employee Benefits’, actuarial gains and losses should be recognized
immediately in the statement of profit and loss as income or expense. Therefore, surplus amount of F6

lakhs is required to be credited to the profit and loss statement of the current year.

5.5M.103 (Plan Assets and Return on Plan Assets) < 19
The following data apply to X’ Ltd. defined benefit pension plan for the year ended 31.03.20X2 calculate
the actual return on plan assets:

Benefits paid 2,00,000 v
Employer contribution 2,%0,000 °2 é‘ 060 D
Fair market value of plan assets on 31.03.20X2 11,40,000
Fair market value of plan assets as on 31.03.20X| 8,00,000 A P Q
SOLUTION O tef
?
Fair value of plan assets on 31.3.20X1 (Opening Bal.) 3,00,000
Add: Employer contribution 2,80,000
Less: Benefits Paid (2,00,000)
) 2,20,000
Fair market value of plan assets at 31.3.20X2 €:)) 11,40,000
Actual return on plan assets (B-A) 2,60,000

QASTS.SM.104 (Plan Assets and Return on Plan Assets) (Y’Y Y (&W\

As on Ist April, 20X] the fair value of plan assets was_31,00,000 in respect of a pension plan of 2eleous
Ltd. On 30th September, 20X| the plan paid out benefits of ¥19,000 and received inward contributions of
649,000, On 31t March, 20X2 the fair value of plan assets was 3F1,50,000 and present value of the defined
benefit obligation was ¥1,47,420. Actuarial losses on thé obligations for the year 20X~ 20X2 were F600,

on It April, 20X, the company made the following estimates, based on its market studies, understanding

and prevailing prices

%
Interest & dividend income, after tax payable by the fund 9.25 =~
Realised and unrealised gains on plan assets (after tax) 2,00 —
Fund administrative costs 0
Expected Rate of Return 10.28
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You are reguired to find the expected and actual returns on plan assets.

Solution
Computation of Expected and Actual Returns on Plan Assets
?
Return on F 1,00,000 held for 12 months at 10.25% 10,250
Return on F 30,000 (49,000-19,000) held for six months at S% (equivalent to
10.25% annually, compounded every six months) 1,500
Expected return on plan assets for 20X1-20X2 1,750
Fair value of plan assets as on 3] March, 20X2 1,50,000
Less: Fair value of plan assets as on | April,20X] 1,00,000
Contributions received 49,000 (1,49,000)
1,000
Add: Benefits pai 0
LAtTual return on p%an assety C 20,000
AltemM_tb.&abwe—qam may be solved without giving compound effect to rate of return.

0,58155M.10S (Plan Assets and Return on Plan Assets) (Y"/ ‘3 & penfeor 4+ |9

The fair value of plan assets of Anupam Ltd. was F 2,00,000 in respect of employee benefit pension plan
as on Ist April, 20X1. On 30th September, 20X| the plan paid out benefits of F25,000 and received inward
contributions of FS5,000. On 31t March, 20X2 the fair value of plan assets was ¥3,00,000. On It April, 20XI
the company made the following estimates, based on its market studies and prevailing prices

% |
Interest and dividend income (after tax) payable by fund 10.28
Realized gains on plan assets (after tax) 3.00
Fund administrative costs (3.00)
Expected rate of return 10.25

Calculate the expected and actual returns on plan assets as on 31 March, 20X2, as per AS 1S.
SOLUTION
Computation of Expected Returns on Plan Assets as on 31t March, 20X2, as per AS IS

?
Return on opening value of plan assets of ¥2,00,000 Cheld for the year) @ 20,500
10.25%
Add: Return on net gain of F30,000 (i.e. FSS,000 — F 25,000) during the
year i.e. held for six months @ $% (eguivalent to 10.25% annually, 1,500
compounded every six months)
Expected return on plan assets as on 3Ist March, 20X2 22,000
Computation of Actual Returns on Plan Assets as on 3lIst March, 20X 2,
as per AS IS
z z
Fair value of Plan Assets as on 3lst March, 20X2 3,00,000
Less: Fair value of Plan  Assets as on 01/04/X| (2,00,000)
Add: Contribution received on 30/09/XI 55,000 (2,55,000)
Add: Benefits paid as on 30 September, 20XI 45,000
25,000
Actual returns on Plan Assets as on 31t March, 20X2
70,000
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QM!S./SMJM (Curtailment and Settlement) E)(

Rock Star Ltd. discontinues a business segment. Under the agreement with employee’s union, the
employees of the discontinued segment will earn no further benefit. This is a curtailment without
settlement, because employees will continue to receive benefits for services rendered before
Tiscontinuance of the business segment. Curtailment reduces the gross obligation for various reasons
including change in actuarial assumptions made before curtailment. If the benefits are determined based
on the last pay drawn by employees, the gross obligation reduces after the curtailment because the last
pay earlier assumed is no longer valid.
Rock Star Ltd. estimates the share of unamortized service cost that relates to the part of the obligation
atF18 (10% of F180). Calculate the gain from curtailment and liability after curtailment to be recognised
in the balance sheet of Rock Star Ltd. on the basis of given information: ~
Mmediately before the curtailment, gross obligation is estimated a@asedﬁon current
actuarial assumption.

\}b)/ The fair value of plan assets on the date is estimated at ?’5,100.\-/

\/T he unamortized past service cos
(d)  curtailment reduces the obligation by I800, which is 10% of the gross obligation.

Solution
Gain from curtailment is estimated as under:

Reduction in gross obligation 600
Less: Proportion of un-amortised past service cost

Gain from curtailment $82 )

The liability to be recognised after curtailment in the balance sheet is estimated as under:

=
Reduced gross obligation (90% of ¥ 6,000) 5,400
Less: Fair value of plan assets (s,100)
Less: Un-amortised past service cost (0% of F180) 300
Liability to be recognised in the balance sheet (162)
Liability to be recognised in the balance sheet 133

ASIS.SM.107
A company has a scheme for payment of settlement allowance to retiring employees. Under the scheme,
retiring employees are entitled to reimbursement of certain travel expenses for class they are entitled to
as_pergompany rule and to a lump-sum payment to cover expenses on food and stay during the travel.
es can claim a lump sum amount equal to one month pay last drawn.
precompany’s contentions in this matter are: -
l.  Settlement allowance does not depend upon the length of service of employee. It is restricted to
employee’s eligibility under the Travel rule of the company or where option for lump-sum payment

is exercised, equal to the last pay drawn.
Il.  Since it is not related to the length of service of the employees, it is accounted for on claim basis.
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State whether the contentions of the company are correct as per relevant Accounting Standard. Give
reasons in support of your answer.

Answer: (DB O

The present case falls under the category of defined benefit scheme under Para 49 of AS 1S (Revised)
“Employee Benefits”. The said para encompasses cases where payment promised to be made to an
employee at or near retirement presents significant difficulties in the determination of periodic charge to
the statement of profit and loss. The contention of the Company that the settlement allowance will be
accounted for on claim basis is not correct even if company’s obligation under the scheme is uncertain
and requires estimation. In estimating the obligation, assumptions may need to be made regarding future
conditions and events, which are largely outside the company’s control. Thus,
tlement allowance payable by the company is a defined retirement benefit, covered by AS IS
(Revised)
Ly,pmvision should be made every year in the accounts for the accruing liability on account of
settlement allowance. The amount of provision should be calculated according to actuarial
valuation.
\/B)La‘Were, however, the amount of provision so determined is not material, the company can follow

some other method of accounting for settlement allowances.

g W&- (cA FINAL) (EXOW”>

Balance of Present Value of Defined Benefit Obligations 15,00,000 v“
Balance of Plan Assets 10,00,000 v
Actuary Report Specifies:

Current Service Costs 3,00,000\/

Benefit Paid at the(@ 2,40,000_ x

Closing Value of Present Value of Defined Benefit Obligations 17,00,000 L—"

Closing Value of Plan Assets at Fair Value 10,20,000 \—"

Journalise, Prepare ledgers and Extracts of Balance sheet and Profit and Loss account along with
disclosures.

Solution: ‘Do Paﬁabfc ale F{Om Asgef—

Interest Cost 20,000~

Contributions to Plan Assets at the Mid of Year 1,50,000 / K Mﬁ,ﬂlj

Expected Return 12% p.a. —T 5 ? B‘I'
———— ]

(0) | Qo000
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Series 200
SHORT TERM EMPLOYEE BENEFITS

Q.45155M.20)

—Tohether an entitlement to earned leave which can be carried forward to future periods is a short -term

employee benefit or a long-term employee benefit
Solution
Paragraph 7.2 of the Standard defines ‘Short-term’ benefits as employee benefits (other than termination
benefits) which fall due wholly within twelve months after the end of the period in which the employees
render the related service. Paragraph 8(b) of the Standard illustrates the term ‘Short -term benefits’ to
include “short term compensated absences (such as paid annual leave) where the absences are expected
to occur within twelve months after the end of the period in which the employees render the related
employee service”.

Paragraph 7.2 of the Standard uses “falls due” as the basis, paragraph 3(b) of the Standard uses
“expected to occur” as the basis to illustrate classification of short term compensated absences. A reading
of paragraph 3(b) together with paragraph 7.2 would imply that the classification of short -term
compensated absences should be only when absences have “fallen due” and are also “expected to occur”.
In other words, where employees are entitled to earned leave which can be carried forward to future
periods, the benefit would be a ‘short-term benefit’ provided the employee is entitled to either encash or
utilise the benefit during the twelve months after the end of the period when the employee became
entitled to the leave and is also expected to utilise the leave.

Where there are restrictions on encashment and/or availment, clearly the compensated absence has not
fallen due and the benefit of compensated absences is more likely to be a long-term benefit. For example,
where an employee has 100 days of earned leave which he is entitled to an unlimited carry forward, but
the rules of the enterprise allow him to encash/utilise only 30 days during the next twelve months, the
benefit would be considered as a ‘long-term’ benefit. In some situations, where there is no restriction but
the absence is not expected to wholly occur in the next twelve months, the benefit should be considered
as ‘long-term’. For example, where an employee has 400 days carry forward earned leave and the past
pattern indicates that the employees are unlikely to avail / encash the entire carry forward during the
next twelve months, the benefit would not be ‘short-term’

\d

Whilst it is necessary to consider the earned leave which “falls due”, the pattern of actual
utilisation/encashment by employees, although reflective of the behavioural pattern of employees, does
determine the status of the benefit, i.e., whether ‘short-term’ or ‘long-term’. The value of short-term
benefits should be determined without discounting and if the benefit is determined as long-term, it would
be recognised and measured as “Other long-term benefits” in accordance with paragraph 129 of the
Standard.

The categorisation in ‘short-term’ or ‘long-term’ employee benefits should be done on the basis of the
overall behavioural pattern of all the employees of the enterprise and not on individual basis.

®.AS15.5M.202

/In/ case an enterprise allows unutilised employee benefits, e.qf medical care)leave travel, etc., to be carried
forward, whether it is required to recognise a provision in respectofcarried forward benefits.
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Solution

A provision should be recognised for all benefits (conditional or unconditional) which an employee
becomes entitled to as a result of rendering of the service and should be recorded as part of the cost of
service rendered during the period in which the service was rendered which resulted the entitlement. In
estimating the cost of such benefit the probability of the employee availing such benefit should be
considered.

-
1S.SM.203: E%O

Mr. Rajan is working for Infotech Ltd. Consider the following particulars: g 560
Annual salary of Mr. Rajan = F 30,00,000 — 0,00P%% = _ ‘ 0\0

Total working days in 20X0-X1 = 300 days < 0d

Leaves Y Mr. Rajan in 20X0-X] = 8 days

The unutilized leaves are settled by way of payment and accordingly, carry forward of such leaves to the
subsequent period is not allowed.

Compute the total employee benefit expense for Infotech Ltd. in respect of 20X0-XI.

SOLUTION

Mr Rajan is entitled to a salary of T 30,00,000 for 300 total working days.

Thus, per day salary works out to ¥ 30,00,000 + 300 days = Rs. 10,000 per day

In the year 20X0-20XI1, Mr. Rajan availed 8 out of 10 leaves allowed by the company.

Accordingly, leaves unutilized = 10 — 8 = 2 days

In line with the company policy, Infotech Ltd. will pay Mr. Rajan for the unutilized leave.

;}élexpense for 20X0-20X] = F 30,00,000 + (2 days unutilized leaves x F 10,000 per day) = F
30,20,000.
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SECTION C - MCQ’s

(MCQ’s from ICAI Material)

l. Gratuity and Pension would be examples of:

(a) Short-term employee benefits
(b) Long-term employee benefits
(c) Post-employment benefits.
(d) None of the above.

2. Non-accumulating compensating absence is commonly referred to as:

(a) Earned Leave
(b) Sick Leave

(c) Casual leave
(d) All of the above

3. The plans that are established by legislation to cover all enterprises and are operated by
Governments include:

(a) Multi-Employer plans
(b) State plans
(c) Insured Benefits
(d) Employee benefit plan
4. Best estimates of the variable to determine the eventual cost of postemployment benefit is referred
to as
(a) Employer’s contribution
(b) Actuarial assumptions
(c) Cost to Company
(d) Employee’s contribution

S. Actuarial gains / losses should be:

(a) Recognised through reserves

(b) Charged over the expected life of employees

(c) Charged immediately to Profit and Loss Statement

(d) Do not charged to Profit and Loss Statement
ANSWERS
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